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1. S/afEd SEda JaEd! e 2007 WEY 13 et F eEeT Hivft gafae ?
(1) ST 2 WHIZTE,
(3) UA.TH.UE.3. (4) Hwa.am,

For the employment in the unorganised sector, who suggested a thirteen point action
plan in August 2007 ?

(1) ILO {2) NCEUS
(3) NSSO ) (4) CSO

2. WG TS FUE AN RIS SE ofaw 7@t ?
(1) s fed gfemior
@) gror ferh gfimm
(3) Wrafes fead gfEaior
(4) Tifgs feerdt gfEaro
Qut of the following alternatives, which one is not the estimate of the unemployed ?
(1) Daily status approach
(2) Usual status approach
(3) Weekly status approach
(4) Monthly status approach

8. YRAWe THaieH A 0T HivTeET a6l sudrd el 2

(1) 1947 (2) 1948 (3) 1951 (4) 1950
In which year was the Planning Commission set up in India ?
(1) 1947 (2) 1948 3y 1951 (4) 1950

4, ‘@Y wEEd R — % 9o FEEE @ GRARl 99 faagevar sriwn sl TEtee

e ?

(1) 3T 4L, (2) 3MF.<LateT.

(3) @ (4) foset

‘SHG — Bank Linkage Programme’ is a huge micro finance programme implemented
by . ‘

(1) IFCI (2) IDBI

(3) NABARD _ (4) SIDBI

Sl BN SR / SPACE FOR ROUGH WORK
B.T.O.
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5.

W, AT F6M 15 S SEHHET (2006) T HE IR ?

(1) geled FEHAAT e a0

(2) STCUHTATHY et

(3) TR NiGay

(4) TR IUEHT SEe

What is the purpose of the Prime Minister’s New 15 Point Programme (2006) ?
{1} To enhance the research activities

(2) Welfare of minorities
(8) Prevent the environmental degradation

(4) Increase the agricultural productivity

et gataite o o g e 2

(1) oo S RERER AEed @gar e

(2) EIES TOET 1982 HEA 3

(3) A [Hfawgiasr #d

(4) iogw wind=n FIeReiqER TEE @ g

Out of the following alternatives which statement is no# correct ?

(1) NABARD was established on the Shivraman Committee recommendations.
(2) NABARD was established in 1982.

(3) NABARD provides refinance facility.

{(4) NABARD was established on the recommendations of the Narasimhan
Committee.

FHAM FARTAT GRS ST IRA TR 1992 T W el = Fpife shet wmen
3] RUTAId.

(1) Fua fash

2) TEE g fAeh

(3) UEE e
(4) T e fae

For the problems relating to the retrenchment of employees the Government of India
set up a fund in 1992, That fund is known as

(1) Retrenchment Fund

(2) National Security Fund
(3) National Renewal Fund
(4) National Welfare Fund

T BN J0M / SPACE FOR ROUGH WORK
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g, oirfis S e faeMEEel IRG SR Uieedn afEifieR "Romer ows Sivred ouf
faarer ?
(1) 1950 (2) 1948 (3) 1952 (4) 1954

In which year was the first Industrial Policy resolution accepted by the Government
of India for the development of the Industrial Sector ?

(1) 1950 (2) 1948 (3) 1952 (4) 1954

9. TRaWE T SFETE WA (TGRS SR WAl Hed HA 2
(1) e o F
(2) vRdE siafis faw W
(3) YRdr Ml fadl TRres
(4) i q fodie e e

Which is the organisation that helps in rehabilitation of sick industrial units in
India ?

(1) Reserve Bank of India
(2) Industrial Development Bank of India
(3) Industrial Finance Corporation of India

(4) Board for Industrial and Financial Reconstruction

10. M fad guett g U SoaEEl 1991 A SRS R G e sl
gt ?
(1) e |
(2) TN dfeEr |ty
(3) UwH, WfqgH g
(4) T whwE

To examine the country’s financial system, which committee was formed by the
Government in 1991 ?

(1) Dasgupta Committee
(2) Raja Chelliah Committee
(3) M. Narasimhan Committee

(4) Rege Committee

TN SHENS! S / SPACE FOR ROUGH WORK
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11, A FeHangd 9R0 v qOR a2
(1) T TE&ER (2) W WEN
3) fak <& 3w e (4) for s
Who formulates the monetary policy in India ?
(1) State Government (2) Central Government
(3) Reserve Bank of India (4) Finance Commission
12, WENEWER ISR & IS0 SV 9ui o] SXvard arell ?
(1) 1970 (2) 1978
(3) 1972 (4) 1975
In which year was Employment Guarantee Scheme introduced in Maharashtra ?
(1) 1870 (2) 1978
(3) 1972 {4) 1975
13. 1995 784 2 (GATT) ¥ FUEK FIMH FW0IT A 7
1) TS (2) Ssgena. 3 &= (4) =
In 1995, the GATT was converted into which organisation ?
(1) WTO (2) WOT (3) TRIPS (4) TRIMS
14, ¥R Y (SEBI) = TqT et Fett 7 famr durte o=t el T,
(1) 1986, 1990 ' (2) 1988, 1992
(3) 1990, 1992 (4) 1992, 1994
The Government set up SEBI in and made it a Statutory Body in
(1) 1986, 1990 (2) 1988, 1992
{3) 1990, 1992 (4) 1992, 1994
15. 9Rd d6 WS QR T
(1) Gedier SRR 2) fEae Serh
(3) ATk foram AT (4) HEAHE
Real wages are the purchasing power of ___
{1) Money wages (2) Minimum wages
(3) Statutory minimum wages {4) Employers

HoAT BHNTS! 3PN / SPACE FOR ROUGH WORK
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16. SMATASN. (LL.0.) & HIvr walfed d907 Hohd 9 30a T F 2
(1) FTEEA TR T
(2) T HE
(3) ITIAH dR I
(4) FTTREA R Y
Which is the supreme body of I.L.O. that passes conventions and recommendations ?
(1) International Labour Conference
(2) Governing Body
(3) International Labour Institute
(4) International Labour Office
17. ‘B3R a9 FHHeA ud B3 S99 (Fair Wages) = & wafey TR TR,
(1) fFAe o= (2) SEA 9
(3) 3= dH (@) s T
According to Fair Wage Committee, the lower limit of the fair wages should be
(1) Minimum wage (2) Living wage
(3) Higher wage ' (4) None of these
18, W[ wwur fagid @ivil Hieen saren fafte Ied fagia wuEd sfewe W ?
(1 3fen fag (2) T Y
(3) el A | (4) sfeg Rt
Who propounded the Exploitation Theory of Wages which is known as “The Theory of
Surplus Value’ ?
(1) Adam Smith (2) Joseph Schumpeter
(3) Karl Marx (4) David Ricardoe
19. WWWWWWWW@W ?

(1) 1956 — 57 (2) 1952 - 53
(3) 1950 -51 (4) 1958 — 59

What was the period of work of the first Agricultural Labour Enquiry Committee of
Government of India ?

(1) 1956 — 57 (2} 1952 - 53
(3) 1950 - 51 (4) 1958 — 59

T BHERN SAT / SPACE FOR ROUGH WORK
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20, & HEIN R (H51T) deden ITE BT I
(1) TEE R (T A
(2) =W e (Te )
(3) dWum.em,
(4) wegedl Sitifie dely dom (ST ST, )
The Chief Labour Commissioner’s (Central) Orgarnisation is also known as
(1) National Organisation (NO)
(2) Labour Organisation (LO)
(3) CS0
(4) Central Industrial Relations Machinery (CIRM)

21, YRAMS Ufedd THSIT 9 S Wi (EEHT UK IR 2

(1) feeet (2)  FHerhl (3) dim (4) 3G

Which is the first organised and oldest stock exchange in India ?

(1) Delhi (2) Calcutta (3) Bombay (4) Ahmedabad
22, WA TsgueAsiarfd FER &1 fawr & THIEE g,

(1) T g (2) X gt

(3) TH=dl g (4) ATH T

Under the Constitution of India, Labour as a subject comes under

(1) State list (2) Union list

(3) Concurrent list (4) None of these

23, WANRNE ¢ MEIH Y Gafyd SR 2
(1) SR gYRARgE T A
(2) Ufmifes goaHryT TR s
(3) WHGl ST SR e | SEfhd HeHrE WEE I
(4) TANTA TS(HT TR WEY "
Sociology is primarily concerned with
(1) Scientific study of biological aspects
(2) Scientific study of historical aspects

(3) Scientific study of man’s behaviour in relationship to other groups and
individuals

(4) Scientific study of socteties political behaviour

el BHNTS! FIRN / SPACE FOR ROUGH WORK
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24, THSOTEE ‘sTcAgdwr fag Sl wiger ?

(1) e I (2) 3T HiE

(3) TS STERH (4) Wiz =i

In Sociology, who propounded the ‘Theory of Suicide’ ?

(1) Max Webher (2) Auguste Comte

(3) Emile Durkheim (4) Ferdinand Tonnies

25. ‘HTEETE fofde’ — § qWiw &0 fage 2

(1) s F (2) B W

3) o e | (4) e 2T

Who wrote the book — ‘Principles of Sociology’ ?

(1) Auguste Comte (2) Herbert Spencer
(3) Lester Ward (4) Gabriel Tarde

2¢. €. EqifsmEren ad, meier InIde aEEdie diF AgEyul gl i Y9 Ugdl. el
YA AT Tl T ST,

(1) i fd=n e
(2) S Regdi=r g9
(3) Fufaues srfegewd=n yaE
(4) STgfTRiaEr g9

According to A. Demongeon, three major groups of factors influence the pattern of
settlement in rural areas. Find out the wrong group of factors from the following
alternatives.

(1) Influence of natural conditions
(2) Influence of social conditions
(3) Influence of agricultural economy

(4) Influence of modernisation

PN HHRAS! ST / SPACE FOR ROUGH WORK
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27. WA ARUSE WS ST S R ?
(1) <R q5e (2) TR e
3) WU g (4) TR
The technical study of human population is referred to as what ?
(1) Population change (2) Density of population
(3) Birth and Death rate {4) Demography
28, AT fawren SRar Uwfors A e sEwT ST w2
(1) 1972 (2) 1974 (3) 1970 (4) 1968
When was Integrated Rural Development Programme initiated for Rural
Development ?
(1) 1972 (2y 1974 (3) 1970 (4) 1968
29, SFEA IR IEIeIe AU fowmi R 7
1 g (2) FER (3) ITEHGR (4) e
Where is Deccan Sugar Institute located ?
(1} Pune (2) Kolhapur (3) Ahmednagar (4) Nashik
30. FUE HHAH WG GERen #1973 WA WNAWIE ST RiEl 39E A
afquarendt sifaw sfearer WeT e ?
(1) vgrEd (2) e giFd
(3) wur. gaEr wfd (4) W9 Wi
Which committee submitted its final report to the Government of India in May 1973
to suggest measures to solve the unemployment problem in India ?
(1) Bhattacharya Committee (2) Bhagwati Committee
(3) A.M. Khusro Committee (4) Ghosh Committee
31, VTGS AN Fheq ST FNEE] aTRvAy Hi gEar st ?

(1) TTeA Al (2) TH.UA. eR

(3) TUEIR]. R (4) . o

By whom was scientitic management concept applied in industrial work ?
(1) Elton Mayo (2) M.L. Taylor

(3) FW. Taylor {4) D.C. Miller

T THRIATS! ST / SPACE FOR ROUGH WORK
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32, AR YgHia
(1) @fer wrEed Tade oo T
2) Frofa aeaers fen sqd s
(3) fToia gemia foar wifid s
(4) TR HHE AR
In bureaucracy system
(1) Decision making is hierarchical
(2) Decisions are taken with emotions
(3) Decisions are politically oriented
{4) None of these
33. T I G TEHY WHF O A HA (e Mezadl a7 O faon wmu =ifter e
JM A 3T R,
(1) e vl (2) |
(3) oAMfehra wqdf (4) AR TIei
When the goal can be achieved or secured by one competitor only at a time, and he
is declared the victor, then it is called as
(1) Absolute competition (2) Relative competition
(3) Personal competition _ (4) Impersonal competition
34, FrEAT fEEl e Goy Fiyed FvamE v el sy R aed 3 ?
(1) hfes faxea (2) fmior sferar
(3) FifaiE (4) e
In what way does division of labour help to determine social relations at work ?
(1) Technical specialist : (2) Manufacturing process
(3) Mechanisation (4) Specialisation
35. Weie wEHEitE S q@iy g amfe e Aftmg AE 2

(1) =l fagmof (2) WU SRR T

(3) HmIferk ferer (4) W ITEHAT |

Out of the following alternatives, which one is not a feature of social system ?
(1) Division of labour (2) Social authority structure

(3) Social prestige (4) Productivity of labour

ST HIIIS! SR / SPACE FOR ROUGH WORK
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36. WA TR FRN vAiT g1 ANfE NRETEN wAers AR e 2
(1) 9 9 W% g9
(2) ST AR WA gfw
(3) 3fyFER Hagen
(4) IFTEiE g Yay

Out of the following alternatives, which one is mof a structural feature of the
Industrial Bureaucracy ?

(1} Line and Staff Organisation
(2) The role structure of Industrial Bureaucracy
(3) Authority System

(4) Informal Social relationships

37. iEife TAN e sewe S

(1) S =geEen (2) W feareiay

(3) wrfaek Gy (4) @ A

An Industrial Society is marked by

(1) Caste System (2) Social Mobility _

(3) Primary Relations (4) None of the above
38. ST TR AN UE STveE qUTE WO @

(1) 9%a1

(2) dHwgEAT SO

(3) heTeanurguy

(4) TEEIT, TGO

One of the indirect strains imposed by Industrial Technology is
(1) Fatigue

(2) Technological unemployment

(3) Boredom

(4) Monotony

T SHNS! ST / SPACE FOR ROUGH WORK



A 13 MTL
39. ﬁ@ﬁﬁmwammqﬁmﬁgwﬁm e & .
T ufgel HEH FE0T FE RN GE FA 2
(1) e e (2) m?ga TgHE
(3) e FA¥ wAHsEd (4) I FHHEH
By whom was the first labour welfare centre started in Bombay, Bengal and U.P. for
improving working and living conditions of industrial workers ?
(1) British Government (2) Procedural Government
(3) First Congress Ministry (4) Royal Commission
40, 2. i iy oW e Foen St e ?
(1) FER (2) Eer (3) HAHA (4) gad
Where is the V.V. Giri National Labour Institute located ?
(1) Kanpur (2) Noida (3) Kolkata (4) Mumbai
41, FEETEE A ME T@UAEIET SR AT SHERE TR e et
(L @ FHA (2) FREH FEE 1934
(3) Hew FeA 4) 2T I IFF 1926
The need of labour welfare offices to avoid social evils was suggested by
(1) Rege Committee (2) Factories Act 1934
(3) Whitley Commission (4) Trade Union Act 1926
42, Teld TATERE qRAE S A geen TEE W A,
(1) &.uA. 2L (2) U
(3) AT (4) TLULTH,
Identify the first national federation of trade unions in India from the following
alternatives.
(1) INTUC (2} AITUC
(3) BMS (4y HMS
43. fedm 9EC B WlES S SOl FEIR TN WHg F0aE gEa sett 2

(1) TAEATE. (2) SLEAEE.

(3) wHEIGH. _ (4) 3T&F

Which trade union started publishing journal weekly ‘Indian Worker’ ?
(1) HMS (2) BMS

(3) AITUC " {4) INTUC

T TS ST / SPACE FOR ROUGH WORK
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44, W 9 HARUER bl Qs 9 FEREad= Tl geamh 8 seemged e
TR ST SMER FOFR G 4T qrrar a9 ?
1) T HAEHH (2) THHE TSI
(3) PR A w1 TEA (4) TH HORE AR
How are the Central Trade Unions recognised by Governments for participation in
national and international-level consultations on social and labour matters ?
(1) By secret ballot . (2) By membership verification
(3) By functions of trade unions (4) None of these
45. FEF FR T dEee WU e Sa el 7
(1) 1960 (2) 1956 (3) 1958 7 (4) 1962
When was the Central Board for Workers Education established ?
(1) 1960 (2) 1956 (3) 1958 (4) 1962
46, ‘9= G deU ST o GRTE HIU g ?
(1) Sf. 3R, gt (2) AF AU G
(3) . afeem (4) Uy, e
Who was the founder of ‘Bombay Mill Hands Association’ ?
(1) Dr. B.R. Ambedkar (2) Narayan Meghaji Lokhande
(3) B.P. Wadia (4) N.M. Joshi
47. #f SIS FRER T FIRT HR UATT Hade g ?
(1) 2THerEa ot T (2) fie ToIy W
(3) wd #5ftw o9 ' (4) T fae merR H@e
Mr. G.D. Ambedkar was associated with which Trade Union ?
(1) Textile Labour Association (2) Mill Mazdoor Sabha
(3) Sarva Shramik Sangh (4) Rashtriya Mill Mazdoor Sangh
48, a2 g fagiae FR doear fogames &9 e 3R ?
(1) WSS gy

(2) F HagEy

(3) FRHE TFAAT FHMR HIZATAT HegT

(4) HMR HELHE it

What is the contribution of Robert Hoxie to the theory of Trade Unionism ?
(1) Social relation

(2) Control of work relatioship

(3) Ideas of functional types of Trade Unions

(4) TRevolution of Trade Unions

HAT SRS ST / SPACE FOR ROUGH WORK



A 15 MTL
49. 9 WY U
(1) Fde Gugw deframEt ani T FO T @ AEEge AR g gueAs
w2 YRUTASRERT qre &t
(2) HHNTEAT SATAIERal TR SAfeRrTa aduEEl SR wRol
(3) AHHITEE fagiaEr ST O
(4) SaUTET HeEET 1A Sl
Human Relations means
(1) Motivating people in organisational settings to develop teamwork which
accomplishes individual and organisational goals effectively
(2) A study of individual behaviour within a group for achieving social objectives
(3) Application of psychological theories
(4) A study or biological relations
50. Frol-usw ugd fi@eid Heead WE ad Bl
(1) 3fefd e (2) ©om
(3) w7 fm (4) A AE
The central principle of organisation which derives from Theory-X is that of
(1) Integration (2) Goals
(3) Direction and control (4) None of these
51. THARHE TEVHE The IR T wEEE oTR.
(1) FESATTS: §EHl, e SihRar o aFs
(2) Steavrer, yifagrerEaTas 9o anfr e
(3) WA ® TAHMd, HoY see, M7 JSaUw
(4) IUEHA, TH I AfFHE
The manifestations of organisational behaviour'is related to
(1) organisational structure, management processes and technology
(2) Dbiological, physiological structure and personality
(3) organisational dynamics, conflict change and adaptation
(4) productivity, technology and personality
52. fral-ag e faeacdl dueqe yiE @ WU

(1) fa (2) fayd "<& (3) fro (4) =9
The central principle of organisation which derives from Theory-Y is that of
(1) Direction (2) Integration (3) Control (4) Goals

Hocdl DHRIS! ST / SPACE FOR ROUGH WORK
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53. &% R ®H WS W gEten wEd fGgT emad we @ weietst sive g
ffeea et B 2
(1) THROTR e (2) Trehd
(3) fafaa dfea (4) TSI TUTEeT
The bank-wiring room study in Hawthorne experiment showed that a fair days work
was determined by the following :
(1) Nature of supervision (2) Earnings
(3)  An unwritten code of conduct (4)  Quality of supervision
54. U IACHAAS! 9 NYF WA GRS FERET Ted sTEvEE S,
(1) fafmagem (2) W
(3) fferen (4) wEFEE
of employee is often essential to higher productivity and greater human
Justification.
(1) Attendance (2) Participation
(3) Authority (4) Perranency
55. anaarr giEshATaR, ‘fadt ame = THEY .
(1)  TRfeRmemEfayas, Aedafaas T qmaemet gfwa
(2) IHles Ioiei M S g
(3) FaAlawash HaHg '
(4) HHEHED A
According to behavioural approach, situation includes
(1) Physiological, cognitive and psychological processes
{(2) Immediate stimulus and environment
(3) Responses of behaviour
(4) Socio-centric values
56. ‘HHGAEN WAGS SR’ B Gren oiond fegd I ?

(1) 3=d I (2) 3=d A%

(3) WM e (4) HEE FEEE
What is the good result of ‘employees morale’ ?

(1) Higher production (2) Higher profit
(3) Better wages (4) Job satisfaction

T BTG SR / SPACE FOR ROUGH WORK
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57 ERR AEAEE S STl STaRTETIEy e ST Hged 2U1 AR ufge yan

Rl
(1) SR @ (2) ERIGST 2T
(3) T 3 (4) THETR] e

The first experiment on workers morale and emphasis on human factor in business
was carried out by

(1) J.R.D. Tata (2) Jamshedji Tata
(3) Robert Owen (4) F.W. Taylor
58, e 9fFT WA 8 TR I e .
(1 3fEER (2) g (3) favarg (4) W&
Job involvement is a type related to
(1) Attitude (2) Value (3) Belief (4) Emotion

59. WEIEEl S T B HEAl fSHNl qUE SO S ?

(1) SRR fowm (2) e
(3) HeHRI (4) HeIHYA
Which one of the following is an important source of stress at work ?
(1) Career Development (2) Training
(3) Colleague (4) Ewaluation
60. ? wier g Fete cumen fagrafawd wfes aRd.
(1) e gt (2) T TR
(3) S TR (4) FEEA AEAr
is known for his theory of the hierarchy of human needs.
(1) Frederick Herzberg (2) Peter Drucker
(3) John Garnett (4) Abraham Maslow

61. “qerer Saaew g Son W ?

1y ©H (2) e
3) T anfr =faE | (4) et
Who propounded ‘Life Cycle Theory’ of Leadership ?
(1) Reddin (2) Fiedler
(3) Hersey & Blanchard (4) Jolly
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62. Tl AAl G UEH IO Sgs AR WG v e 0 A o 3
T,
(1) 3Rom 2 3fE=e
(3) FmM T (4) TEH BIOE TR
Herzberg’s two factor theory has resulted in much more attention being paid to
building
(1) motivation (2) attitude
(3) job satisfaction (4) None of these
63. TSl WA M WSS FAHN geAd UEaE & TreaTet Gafe TR,
(1) dFE 9 g9 @wy
(2) TIF T HHEH
(3) SIRI GHIS g
(4) HR THIS =qe
The basic assumptions of Human Relations and Crganisational Behaviour relates to
(1) The nature of people and organisation
(2) Technology and employees
(3} External social system
(4) Internal social system
64. FH wfgefrafs freft anfor s wad sfufrm, 1952 siwfa Som A wd=rd

Hfeeaf-atg el ee-mrka Tafach s a@ ?
(1) FHAIY sfgsfeag 2 9, 1952
(2 Wl feuEie-fme fam a9, 1976
(3) FHIN fgfa a9 99, 1995

(4) AN THIH WOE IS, 1998

Under the Employees Provident Funds and Miscellaneous Provisions Act, 1952 which
scheme is not operated through the Employees Provident Fund Organisation ?

(1) Employees Provident Funds Scheme, 1952

(2) Employees Deposit-linked Insurance Scheme, 1976
(3) Employees Pension Scheme, 1995

(4) Employees Compensation Scheme, 1998

Bl TS I / SPACE FOR ROUGH WORK



A 19 MTL
65. T ST FHE 1946 AT FHIR 50% U frals o SvAE 9N eMRd ?
(1) deear 50 feamr 9t (2) dige 75 feaar @t
(3) dfger 90 feawr 9t (4) dfgen 100 feawn @&
Under Standing Orders Act 1946, workers are entitled to get subsistence allowance
at the rate of 50% for
(1) first 50 days (2) first 75 days
(3) first 90 days (4) first 100 days
66. o a% it Rgwiie el Facfawas e Tl el IR
(1) SR THARTE HFa, 1923
(2) a9 T FFET, 1936
(3) siaifim faamR #reer, 1947
(1) R wigsfag e 9 s Tgdfavas sme, 1952
The legislative provisions for lay-off and retrenchment compensation are contained in
(1) Workmen Compensation Act, 1923
(2) Payment of Wages Act, 1936
(3) Industrial Disputes Act, 1947
(4) Employees Provident Funds and Miscellaneous Provisions Act, 1952
67. HUPT 9 FIST (IMA.TA.3N.) AW ®. 81 It Efua o,
(1) SO (2) foum == (390M)
(3) ISR GLErear (4) AR qqrEof
The ILO Convention No. 81 relates to .
(1) Unemployment (2) Minimum Age (Industry)
(3) Social Security (4) Labour Inspection
68, WHITIE VI HEY HF AF] FIAW I ?

(1) 10 ¥l 1970 (2) 10 %Earr 1971

(3) 1 HgER 1969 (4) 19Had 1971
When did Contract Labour Act come into force ?

(1) 10*" February 1970 (2) 10" February 1971
(3) 1% February 1969 (4) 1% January 1971
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69.

20 A
faH 9997 ST 1948 3ila Fvre JavE Wi TETET fEg@ (schedule) e &1
FOAH IER TR ?
(1) HFE 22 (2) HIYIT 24
(3) TFME 27 (4) TFTF 29

Which Section empowers the Government to add Schedule under Minimum Wages
Act, 1948 ?

(1) Section 22 (2) Section 24
(3) Section 27 (4) Section 29
70, Ufge UL oW IMEANTY A WIT BN 7
(1) & ShEu" S (2 &t =1 = i
(3) S drE. TeErse (4) 4 TR e
Who was the Chairman of the First National Comrmission on Labour ?
(1) Mr. G.D.H. Cole {(2) Mr. V.V. Giri
(3) Dr. P.B. Gajendragadkar (4} Mr. Gulzarilal Nanda
71. FHE T faw @ a T Al TR,
(1) 2TSNEHL G (2) TiEEE AT
(3) Uell 92 =t Frer (4) YRS IreHET
Employees State Insurance Act is the outcome of
(1) Adarkar Plan (2) Gandhian Plan
{(3) Ela Bhatt’s Plan (4) Bhandarkar Plan
72. ﬁwﬁ?@maﬁaﬁa@nﬁamﬁiﬁaaﬂﬁaw

(1) W T[aavEE FEata (2) Hﬁﬁfﬁe&ﬂﬂﬁaﬁﬂﬂaﬁﬁ

(3) e (4) wiSecrEl HAATE

During the past two decades, the employment in public sector industry is declining
because of

(1) less foreign investment (2) disinvestment in public sector

(3) competition (4) lack of capital
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73. 15 =1 (1957) YRdE oW UReeHe) WA FER gEamEd S9N UEe
TR U HHacl S R aed e Al oW RaErd.
(1) A (2) (3) =R (4) W
In the 15" Session (1957) of the Indian Labour Conference, the standard working
class family was taken as with ____ consumption units to calculate the minimum
wage.
(1) two (2) three (3) four (4) five
74, wiw- a3 (TREE)
af e e e THuH (3fE)
1999 - 387 16-16
2000 345 16-80
2001 302 18-20
2002 284 16-92
2003 297 27-05
2004 241 19-04

Frorer a6l diEw-aTRe () W S ad TR Fers sTeEd ad 2

(1) 2003 (2) 2004 (3) 1999 {4) 2000
Lockouts
Year Number Workdays lost (average)
1999 387 16-16
2000 345 16-80
2001 302 1820
2002 284 16-92
2003 297 27-05
2004 241 19-04

In which vear were workdays lost due to lockouts the highest ?
(1) 2003 (2) 2004 (3) 1999 (4) 2000

o] BHETHEIST S0 / SPACE FOR ROUGH WORK
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75. FUR weAT St Snfer s A SmREE) e he ARwE SR FE 2
(1) wHEtess (2) S 99 "
(3) IWUESN. L @) dR R
Which organisation publishes the Consumer Price Index Numbers for Industrial and
Agricultural/Rural workers ?
(1) CBWE (2} Central Labour Service
(3y EPFO (4) Labour Bureau
76, TR 0T FINTHR 1931 T gl e quRoT svar deidier i@ oy
SO T 7
(1) 97 &) (2) T - 3w
(3) MHM TR (4) WY R
By which of the following pacts in 1931 were the conditions regarding the amendment
in the law of salt accepted ?
(1) Pune Pact (2)  Gandhi - Irwin Pact
(3) Assam Pact - (4) Tashkand Pact
77. 1887 Wiell TAYH IME HGRISI I TE MER et T el
(1) 3med 2) U
(3) @A (4) AT
In 1887 Chhatrapati Shahu Maharaj established First Mahar School at
(1) Alate (2) Radhanagari
(3) Kagal (4) Mangaon
78, WA SERFGE@IEl  Hasd 1920 7ed e €@ 3w IR AW wad sfRwd g

A ?
(1) T Sl (2) Fe1T wH
(3) el erefyald (4) WETeHT ey

Under whose Presidentship was the First Session of the All India Trade Union
Congress held at Mumbai in 1920 ?

(1) W.C. Banerjee (2) Surendra Nath Banerji
(3) Lala Lajpat Rai (4) Mahatma Gandhi

Tl SRS STAM / SPACE FOR ROUGH WORK



A 23 MTL

79. foeor fawas Tyl AsHe’ ST H ST e 2

(1) €I quHwHE (2) WEE g
(3) wERH T | @ fam fR
Who has manifested the ‘Vardha Policy’ regarding education ?
(1) Dr. Radhakrishnan (2) Mahatma Phule
(3) Mahatma Gandhi (4) VR. Shinde
80. FeaRE &re ol fiiegan 3.
(1) TR (2) HeTg
(3) WS (4) FRR
Paper mill at Ballarpur lies in the district of
(1) Nagpur (2) Solapur
(3) Chandrapur (4) Kolhapur
81, S g ST HER 3% IR
(1) wsIEd (2) e
(3) el | - (4) g
Glass temple of Jains is in .
(1) Bhadravati (2) Aarvi
(3) Ashti (4) Shirpur
g2, TEREES) _ Seniw a Ry (Wddfod game &%) few e
(1) 12 (2) 17 3y 21 (4) 23
Automatic weather stations are located in Maharashtra.
(1) 12 @ 17 3) 21 (4) 23

83. TEEIE HUTE (AR whged S AT ?

(1 s (2 T

(3) wwEE S | (4) ToEH

The Tropic of Cancer does not pass through which of the following states ?
(1) Orissa {(2) QGujarat

(3) West Bengal (4) Rajasthan

T HIATTS! ST / SPACE FOR ROUGH WORK
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84. USTRAS Fom HE (SEROTE ATl de welEE Soe e,
(1) 36751 (2 350 52 (3) 367 53 (4) 387 54
The Directive Principles of State Policy are included in Articles of the
Constitution.
(1) 36to 51 (2) 35 to 52 (3) 36 to 53 (4) 38 to 54
85. o A TSEEEAE AR A SR,
(1) IfemEw | (2) e sifimr
(3) HA FHded (4) FPCEE d9
The is supposed to be the soul of the Indian Constitution.
(1) Preamble _ (2) Fundamental Rights
(3) Fundamental Duties {4) Directive Principles
86. WNGIE ISHIAT FHetd 3 gafed ARmEg it o,
(1) 120 (2) 124 (3) 214 (4) 240
Article ' of the Indian Constitution empmx.fers the formation of Supreme
Court.
(1) 120 (2) 124 (3) 214 (4) 240
87. MUY Fe&T SMven Jei=mr FT FET HAT.
(1) TS (2) e
(3) feramuftaar womaet ' (4) &I =
Members of Legislative Council can submit their resignation to
(1} Governor of State (2) Chief Minister

(3) Chairman of Legislative Council (4) Chief Justice

88.

STUTETI Shreard el gsel HaHe arefaa I,
(1) SIEr 5 Futdag (2) =g wEE!
(3) TH a9 (4) =9 =9

In the event of a national emergency, the term of the Lok Sabha can be
extended

(1) For five more years (2) Indefinitely
(3) By one year {4) By two years
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89. 1970 71 WA saren Frafdia v FRE e S 3R 7
(1 I 3w (2) ‘s
(3) FIREMEN K (4) wfHe ged
Which commodities are dominant in the export of India since 1970 - 717
(1) Agricultural products (2) Minerals
(3) Manufactured goods (4) Mineral fuels
00. AT 2004 — 05 TEY Tl U FeA fEd g ?
(1) 81 (2) 181 (3) 102 (4) 105
How many service taxes were there in India in 2004 — 05 7
(1) 81 (2) 181 (3) 102 (4) 105
91, oged UEAlSE Aerid fRdl ST SUAT G AU WA el 7
| (1) % 2,560 F. (2) T 42,000 F.
(3) ¥ 16,570 . (4) T 27,760 H.
What was the amount of deficit finance in the Eighth Five Year Plan ?
(1) 2,560 Cr. (2) T 42,000 Cr.
(3) ¥ 16,570 Cr. ' (4) ¥ 27,760 Cr.
92. 1973m¥§fmﬁaﬂmaﬁﬂﬁwa€hﬁmawa¢r% ?
(1) FuTaere feadde ae (2) ScHEANE HFEIAN
(3) L ST | (4) wenfoe feudt
Which cost-push factor is responsible for inflation in India since 1973 ?
(1) Hike in oil prices (2) Fluctuation in output
(3) Taxation (4) Administered prices
93. @Waﬁ%mﬁ%ﬁﬁwmﬁwmww ?

(1) e (2) @HAUEE g0l

(3) vedmd (4) T AR

Which instrument is used to observe the distant objects like stars, planets etc. ?
(1) Microscope (2) Astronomical Telescope

(3) Spectrometer (4) None of these

Hoedl SIS ST / SPACE FOR ROUGH WORK

P.T.O.



ek mdabaniire

MTL

94,

26 A

ARATd Wi 39 1984 HEX ST, SRT TSOI= HITedT WY IR WA 4000 S
e W 2

(1) 39 s | (2) WS sifFEEEe
(3) T sAagige (4) fafrr sfagiEiae

In Bhopal in India, in 1984 accidental release of which poisonous gas killed nearly
4000 people ?

(1) Ethyl isocyanate (2)  Propyl isocyanate
(3) Butyl isocyanate (4) Methyl isocyanate
95. faug syman TR FUITHET IR,
(1) NH, (2) H,S (3) 80, 4) Co,
Kipp’s apparatus is used for preparation of
(1) NH, (2) H,S (3) SO, (4) CO,
96. ¥ 2010 WS 5591 feerher avare fier f SR,
L disfEeEg @ w (3) = (4) fEoelt 6
is the winner film of 55th Filmfare Award 2010. _
(1) 3Idiots  (2) Paa (3) Kaminey (4) Delhi 6
97. TR GeTa STafaas s ST WO S w5 e 2
(1) I8 (2) et
(3) qE" wedte (4) Figar
Who works as the child marriage prevention officer in the villages of Maharashtra ?
(1) Gram Sevak (2) Talathi
(3) Police Patil (4) EKotwal
98. WRAM T WA ST HET ?

(1) THE, HorEa 2) 5. Tegwe

(3) UYuy, wm (4) TEF. GE
Who is the present Chief Justice of India ?

(1) S.H. Kapadia (2) K.G. Balakrishnan
(3) S.S. Sharma (4) Y.K. Sabharwal
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99. FNTE UFH TEMNT HERIEIGIEr FAEE I ?

(1) TS ggmE F. 03 (2) THE wgmEE % 06
(3) TEE mgmrl %. 50 (4) U™ WM #F. 60
Which National Highway is limited to the area of Maharashtra ?
(1) NH-03 (2) NH-06
(3) NH-50 (4) NH-60
100.mmﬁ2009—10%aﬁwwmaéwaﬁﬁéﬁaﬂ% ?
(1) 9 ¥eheT o (2) TH T o
3) @H faw =¥ (4) 7m foeor =
Which type of year was declared by Government in 2009 —10 ?
(1) Gram Prakalp Year (2) Gram Sabha Year
(3) Gram Vikas Year (4) Gram Shikshan Year

101.%%@@@@&%%@@%,@@%&%%@
Wwwﬁw,wmﬁwﬁmﬁlmﬁwraﬁmwm,m
Wﬁmmﬁ?wﬁooaﬂ%m%ﬁwﬁaﬁwﬁmmaﬁa?
(1) T 150000 (2) 93,000 (3) % 1,86,000 (4) ¥ 1,46,500

Mr. Ramlal gave half of his property to his eldest son, half of the remaining to his
second son and 1/3 of the rest to his daughter. The daughter’s property was worth
Z 15,500. What could be the total value of Mr. Ramlal’s property ?

(1) T1,50,000 (2) 93,000 (3) % 1,86,000 (4) ¥ 1,46,500

102.W90WW@W@@W@WBOWWWWGWW
0 frdt AR T A, W o gued o w7
(1) anett 75 feeel (2) e 72 e
(3) @rft 70 Rl (4) IUE PIUTEE AR

A car covers the distance 180 km with the speed 90 km/hr and returns at the speed
60 km/hr. What is the average speed of the car during the journey ?

(1) 75 km/hr (2) 72 km/hr

(3) 70 km/hr (4) None of these

103. S FOREST = 3428, FOSTER = 3824 T ESTER = ?

(1) 2284 (2) 2428 (3) 2824 (4) 2842
If FOREST = 3428, FOSTER = 3824 then ESTER =?
(1) 2284 (2) 2428 (3) 2824 (4) 2842

Sl DIHIETS! I / SPACE FOR ROUGH WORK
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104. ETelier feelean Siar TR + @1 TaEER S sk swen g 2
8 3 5
4 * 8
9 * 4
2 2 * 7
(1) © (2) 4 (3) 6 4) 9
Find the number * in the addition problem given below.
8 3 5
4 * 8
9 * 4
2 2 * 7
(1} 0 (2) 4 (3) 6 4) 9
105, TIERI 39, Y Yod WU RTT SqeS BEAT 1 VI TOTER 200 B, T BOAT
I YT TOTER fordt ?
(1) 600 (2) 500 (3) 400 (4) 300
If a number of an alphabet is considered as its value, and product of BEAT is 200,
then what is the product of BOAT ?
(1) 8600 (2) 500 (3) 400 (4) 300
106. @refiel X Foft gof &y,
ABEF, GHKL, MNQR, STWX,
(1) YZCD (2) CDGH (3) IJMN (4) OPST
Complete the alphabetical series.
ABEF, GHKL, MNQR, STWX,
(1) YZCD (2) CDGH (3) LJMN (4) OPST
107. DO=+—-, GO=x— W GOD =?
(1) x—+ (2) +-—x () = +x (4) = +-
If DO=+—-, GO =x- then GOD = ?
(1) x-+ (2) +-x (3) — + x 4) x+ -
108. fqgma T 3
(1) BYC (2) EFU (3) GHS (4) KLO
Find the odd man out.
(1) BYC (2) EFU (3) GHS (4) KLO
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109.@Wﬁwm%5owm.mﬁéﬁﬁmﬁwﬁ%ﬁaﬁmﬁ%

T 3.
TET FEa @A Yot
7 20 7 30
Z15 Z 15
T9 76
26 Z0
THT Z 50 TH Z51

T Erets F faue A ?

(1) Fead @A 3 freos a1 g gAE ) swar
(2) Teroes & Foed W TEE SR e

(3) wmewwwmm
(4) 0 96 T%

A person has a ¥ 50 balance in his bank saving account. Following is the account of
withdrawals done on various occasions along with balance :

Amount Amount
withdrawal balance

T 20 T30

T15 Z15

29 6

Z6 0

Total T 60 T 51

Then which of the following is correct 7

(1) Amount withdrawn and balance are always equal
(2) Amount of balance is always more than amount withdrawn
(3) Total balance and amount of withdrawl cannot be compared

(4) All above statements are wrong

Pl HATER FIAT / SPACE FOR ROUGH WORK
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110, fEe 99 Fhvrem 99 SFd g Kt 2

qHE, WS, qEN
O O
A q Ed S
@n*HA (2) 9 (3) @& 4) s

Which Venn diagram describes the given sets ?

Humans, living things, males
A B C D

(1 A (2) B 3y C (4) D

111, YAl SF Fvred gersie g1t 2
5,6,7, 12,9, 18, 11, 24, 13, 30, ?, ?
(1) 36,15 (2) 15,80
(3) 16, 36 (4 15, 36
Which pair of numbers will replace the question marks 7
5,6,7, 12,9, 18, 11, 24, 13, 30, ?, ?

(1) 36,15 (2) 15, 30
(3) 16,36 (4) 15, 36

ST BHRIS! ST / SPACE FOR ROUGH WORK



A 31 MTL
112. ﬁﬁ?ﬁmmm@ﬁwwwﬁmwmmﬁvﬁﬁa@ﬁﬁ%mﬁa
e ?
T77777777777
(1) (2) (3) (4)
If given structure is perpendicular to the plane, reflective surface as shown in the
figure, then which figure is the reflection of it ?
TITT77777777
(1) (2) (3) (4)
113, TV 97 TR T QU 27 STE AR, HeqA T WAl FAYET 57 S 3.
FoTTR 9 5 a9t 30 A BiEd o, W e g9 fhd ?
(1) 9 @4 (2) 10 =¥ (3) 25 o (4) 22 =¥
Age of Ramesh is 2 years more than double the age of Suresh. Kalpana is 5 years
older than Ramesh. Kalpana will be 30 years old after 5 years. How old is Suresh
today ?
(1) 9 years (2) 10 years (3) 25 years (4) 22 years
114. U 3 : 30 F T 10 : 30 WA ffrzaer FRdt do AEEREACT HHGT I8 TR 7

(1) 6 (2) 7 3y 5 (4) 8

How many times will the minute hand cross the hour hand between 3:30 pm to
10-30 pm ?

1 6 @) 7 @) 5 @) 8

oAl HHTS FIRT / SPACE FOR ROUGH WORK
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115, ¥, d5, g, fows, mev, wwie, W @ @ g T e awet s, gh,
fews o afrerear wedl, wRw & WONE @ Qe wed ST Wew w7 fous § yuig g ger
IR, AT & GO YR FA ARG W ETE T T IR 2
(1) T 9 g9 (2) @ 9 999
(3) W 9 |y 4) T T yvig
Anil, Sanjay, Sunil, Deepak, Mahesh, Prashant and Suresh are sitting in a row. Sunil
is between Deepak and Anil, Mahesh is between Prashant and Suresh and Sanjay is
between Deepak and Prashant. Anil and Suresh are at the two ends. Locate the place
of Deepak.
(1) Between Sunil and Sanjay (2) Between Anil and Sanjay
(3) Between Sanjay and Mahesh (4) Between Sunil and Prashant
116, e OG0T w64 we 3% I e,

1A \?
5 |_/10] 6
Y 9
e T fhbe € A9 W3 TR Qg fadt 2
(1) 6 (2) 10 (3) 8 4) 11

Study the diagram carefully and answer the question. The square stands for Football
players, the triangle stands for Cricket players and the circle stands for Kabbadi
players.

How many players play only Football and Cricket ?
(1) 6 (2) 10 (3) 8 (4) 11
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117, @i Aifeed Emr STEt @i e
BFDA, EIGD, JNLI,
(1) OSQN - (2) IMKH (3) KOMJ - (4) QUSP
Select alternative for the blank in the following series.
BFDA, EIGD, JNLI, ___
(1) OSQN (2) IMKH {3) KOMJ (4) QUSP

118, T Q@RI T Frenie we Teamt Stdes e, o el d et Tear
A T IR U AR e, | A g fSHrE R e s ?

(1) 10 fdi (2) 12 f&E (3) 3 (4) 8 forrlt

A person walks 7 kilometers towards the East. Then he turns to his left and walks
a distance of 3 kilometers. Then he turns again and walks 5 km in south-west
direction. How far is he from the starting point ? '

(1) 10 km (2) 12 km (3) 3 km (4) 8 km

119. SR TH WiHGH THd ‘CHENNAT @ ¥ ‘EFGLPYK 374 fafger @ @< ad ‘DELHT
T e &Hl feRE ?

(1) FGNJK (2) CDFGH (3) FCNFK (4) FIQRT

If in a code language ‘CHENNAT is written as ‘EFGLPYK’, then how will ‘DELHTI be
written 7

(1) FGNJK . (2) CDFGH (3) FCNFK (4) FIQRT

120. SyArFgRal S 4rg yaig fas.

A A A 9
) 13 (2) 17 3) 9

(4) 19

(1

Choose most appropriate alternative in place of question mark.

A A A ?
(1) 13 (2) 17 (3) 9

(4) 19
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121, Y¥AfagrRal Sl $ior 3R agd ?
H|D|F | R
K| G|D|V
F|I]|B| Q
I B J] Y
(1) 1 (2) C 3) R {4y M
Which alphabet will be there in place of question mark ?
H{D|F |
K| G| D[V
F|I1|B| Q
? | B | J|Y
(1 1 2 ¢ 3) R 4 M
122, ThiaET TEa SO e shaar

1. T1=100T19

2 =10 98 x 10 90

3 =T 1/10 x T 1/10

4. = T 1/100

5 =194

6. ..%T1=1THw

1) (2) <A (3) @ (4) =

Identify the step that starts logical inconsistency.

1 ¥ 1 =100 paise

2 = 10 paise x 10 paise

3 =¥ 1/10 x ¥ 1/10

4. =¥ 1/100

5 = 1 paisa

6 %1 =1 paisa

(1} One (2) Two (3) Three (4} Four
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123, e Wod WY O[O AEEOT 30 YA 9Ol Wieder. T UG Tow g
TEEIE T A[UIE 3 0T He S mﬁmnowﬁwﬁmwﬁwm
foas 9@ Hew ? ‘

(1) F@ (2) W= (3) N (4)
Nitya attempted a test of 30 questions and 5 marks are given for each question. For
each wrong answer 3 marks are cut from the total marks. If Nitya got 110 marks, in

how many questions did she go wrong ?
(1) Six (2) Five (3) Four (4) Three

124, i 9= o Sivem 19 ¥t ¥ R oM. o g IR gt IS W fael @
IRl A SEEE waRA 2 A 3 & oe. Wil wald 39 ey fadl 3= 174 A
sraeary fadEn 3= fodt 2
(1) 155 (2) 157 (3) 174 (4) 153
Shashi’s height is 19 cms more than Amie’s height. The difference between Amie’s
and Shashi’s heights is 2 cm less than the difference between Wily’s and Shashi’s
heights. If Shashi is highest of all and her height is 174 cm, then what is Wily’s
height ? :

(1) 155 (2) 157 (3) 174 (4) 153

125. Waﬁﬁm%%oaw@aﬁﬂsmﬁﬁw TEH el T 500 T AT feem,
WHAFE 2 IH TEA @ ISAT fRheEel T e see 1S Hael. @ qeEe
ﬁ%wwﬁ?ﬁ%mﬁ@aﬁﬁmooﬁ;ﬁmmaﬁ@ﬁw
wrfAe S W e T 500 WE g TR FT THAE
Aol FoaETEl gEeE U Hfd FO1 3fEd a2 |
(1 H%WWWHWWWWWWWW

(2) TEHCT WA Felell WHT 9 IS fooel @ Ao aGnE fame wEn g

(3) URHA W Holedl A Iem=ren fEoe @e sy @A T 150 a9 F3ad

(4) wlote e 3faa A

Swadheen sold a game for ¥ 650 to the customer with T 75 profit. Customer gave him

two notes worth ¥ 500 each. Since Swadheen did not have a change he exchanged

one note with his neighbour and got the change. He returned remaining amount to

the customer, After some hours neighbour came with that note and showed him that

it is fake. Because of this Swadheen returned ¥ 500 to him. Which of the following

processes is appropriate to calculate the loss incurred in this transaction ?

(1) Add the amount returned to the customer and amount given to the neighbour
and subtract profit from it

(2) Subtract selling price from the addition of amount returned to the customer and
given to the neighbour

(3) Add amount given to the neighbour to the amount returned to the customer and
subtract ¥ 150 from it

(4) None of the above is appropriate
P BT 3T / SPACE FOR ROUGH WORK
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126, STl TEET 9 HEi= qaRrs faare fE FRoammiar ST e Sel e o
I ARl el SRUAEEAE] ST WOe 3. o 9 Sl S
(1) ffaftem =i (2) 9 (IHUrR)
(3) faeu 4= (4) 3fafisd wa”
Where an arbitration agreement provides for a reference of the disputes to an even
number of arbitrators, the agreement shall also provide for the appointment of another
person known as '
(1) . Additional judge (2) Umpire
(3) Third umpire (4) Additional arbitrator
127, frarer amn ard
(1) ad SR =Aarear feen fofa
(@) v TP st SrEfuso foeren favlg
(3) e feeien frare
4) e Y=
Award means
(1) decision of the Labour Court only
(2) decision given by National Tribunal only
(3) only Arbitrator’s decision
(4) all mentioned above
128. W& ST Wy FEE, 1946 T FoIH 3(3) HET HUE =wed faee 3R ?
(1) vEREyE FrEYg (2) WA M g
(3) WG WS HEEAT (4) TERME
Which term is defined under Section 3(3) of Bombay Industrial Relations Act, 1946 ?
(1) Arbitration proceeding (2) Approved list
(3} Approved union (4) Arbitrator’s rights
129, Ya% OifE Haw FEEl, 1946 T FUTE wemmed ‘gfts sfusRl @ veeel wme

Foer IR ?
(1) | 3(22) (2) etH 3(11)
(3) eiH 3 (4) HelH 7

Under which Section of Bombay Industrial Relations Act 1946 the term ‘labour officer’
is defined ?
(1) Section 3(22) (2) Section 3(11)

(3) Section 3 {(4) Section 7
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130. HaE 3ieife U<y ST FEH 78 A I ?

(1) #fFw =Eey (2) S =HEeH

(3) TAUEE 9 (4) TR SRR A
Section 78 of Bombay Industrial Relations Act, 1946 deals with
(1) Labour Court (2) High Court

(8) Governor’s Power (4) None of the above

131, & SfTde W (ETTH 9 T[RITE) 39, 1970 | 3fE¥
1) S FEE e w2
(2) A FHR YT dg B!
3) @ fafye vRfterda St SR ggd @ w0 | e e
(4) i B e
The object of the Contract Labour (Abolition and Regulation) Act, 1970 is
(1) to regulate contract labour
(2) to abolish contract labour
(3) to regulate and abolish contract labour in certain circumstances
(4) None of the above

132. gHHT FEAIE 3fF, 1923 v TEAEEd JHa WS e TR,
(1) I

(2) I QU STdTe

(3) S Fes YU/ YT

(4) FlertEr w9

Workmen Compensation Act, 1923 provides compensation for

(1) Death

(2) Permanent total/partial disablement

(3) Temporary total/partial disablement

(4) Above all

133. f& TS We R sfae, 1948 4 A TS IS,
(1) STSRIYUTSEe 19 (2) WIEAYUIEE = &4
(3) FUTEEETD A (4) =ertEr e
The Employees State Insurance Act, 1948 provides for
(1) Sickness benefit (2) Maternity benefit
(3) Disablement benefit (4) All the above
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134.

38 A
fg Ol oifw 999 392, 1936 39 VH-FE UEIT ST T
(1) 7 f3aw 2 10 feaw (3) 15 feaw (4) TH Al

The Payment of Wages Act, 1936 provides that ‘wage-period’ shall not exceed
(1) 7 days (2) 10 days (3) 15 days (4) one month

135.

TEE FR 999 {emdr 3 33, S ) Geld SRURGd FHiaeeT 9896 el 394,
(1) et

(2) HEaren SHg S/ fEae e

(38) HEATAT WITHRN =/ 3THTAH

4) i FoRE

An employee shall be disqualified from receiving bonus, if he is dismissed from his
service for

(1} fraud
(2) riotous or violent behaviour
(3) theft or misappropriation of property

(4) any of the above

136.

fe sl 3y ofve wRfectyrieq ofae, 1948 3799 wiohel Feareh aiae 3R,
(1) ot s o 3fRyda sm 2

(2) T FHALAT SAUUET SRS FH L0y

(3) © FTA geEtew feawh @ o

(4) Tl Td

The Bombay Shops and Establishments Act, 1948 provides for prohibition of women
workers

(1) to work on at late night
(2) to work more than others
(3) to work on holidays

(4) All of the above
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137. "GRG FHEMEE GOA da4 RN GRqe AT HieHHrear sen 3T AR,
(1) +=hTiH 38 (2} <hefH 30
(3) =eH 14 (4) A 16
‘Equal pay for equal work’ is provided under Article _ of the Indian
Constitution.
(1) Article 38 (2) Article 39
(3) Article 14 (4) Article 16

188. WIged AT SFel, 1961 =) HIU oY T FHEAGAT I IR,
(1) "gS o
(2) weSd Iy
(3) M 9 &AUH AEHM
(4) s o

What are the benefits available to women workers under the Maternity Benefits Act,
1961 ?

(1) Payment of Maternity benefits
(2) Medical Bonus
(3) Leave and Nursing breaks

(4) Al of the above

139. 9 FN (Jfaey T fowm) s@e, 1986 373 aa=t _ a¥ qof 9 o e
1 7 (2) 1294
(3) 14 (4) 18
Under the Child Labour (Prohibition & Regulation) Act, 1986, a person who has not
completed years of age is called a ‘child’.
(1) 7 years (2) 12 years
(3) 14 years (4) 18 years

T BB A / SPACE FOR ROUGH WORK
P.T.O.



e b, - PR ot Bt Wk i e x| Bl ) AL e e e R AT o) 4B e

MTL

140.

40 A

(1) 91 SR (Sfdey 9 fFReE) S, 1986

2 fg sifdfeaw sfae, 1961

(3) fo $wlS 3fae, 1948

(4) aledst Od

Child Labour is prohibited under

(1) Child Labour (Prohibition & Regulation) Act, 1986
(2) The Apprentices Act, 1961

{3) The Factories Act, 1948

(4) All of the above

141.

e fER wEer 2005 AHE SO FAAMES CORRT @Wwﬁﬁ?ﬁ
Im ?

(1) FeH 2(8) (2) HAA 2(3F)

(3) He 2(3) (4) FHA 2(%)

Under which Section of Right to Information Act 2005, is the term “information”
defined 7

(1) Sec. 2(H) (2) Sec. 2(1)
(3) Sec. 2(D) (4) Sec. 2(F)

142,

HEste TR arar 1 et st e frer frar s e % e e
oew 3R

(1) wfgureEr fear g

(2) WHR TAX FIA IR T HECAER

(3) T fourHeEa TR Fecdl HIVIE 319 SHReaER

(4) FhatEr wd

‘Public authority’ means any authority or body or institution of self-government
established or constituted

(1) by or under the Constitution

{2) by any other law made by Parliament

(3) by any other law made by State Legislature

(4) All of the above
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143. Alfedi=n 3R /™, 2005 9 3RE

(1) e fresfaar 20t

(2) TENE MY FHFEHE TREYHAT 9 IciIaed i ot

(3) HEF 7 ey wifedt @M wfed O

4) FledE wd

The objective of Right to Information Act, 2005

(1) to secure access to information

(2) to promote transparency and accountability in the working of public authority
(3) to constitute Central and State Information Commissions

{4) All of the above

144, Wifedl SMUFER FEE 2005, FH 12 (FET 111) A0 FZTAE Aiigdt HESHUE! (5 Tifgd
3MYh) AU Firdren RreRyiasd Eeiaid #0 FRd 2
(1) ¥R darE
(2) HEHRIA FaEg TR AW
(3) WRa™ T A
(4) WA TEUfd

The Central Information Commissioners, on the recommendation of Committee shall
be appointed U/S 12 (Chapter III) of Right to Information Act 2005 by

(1) the Prime Minister of India
(2) the leader of opposition in Lok Sabha
(3) Chief Justice of India

(4) President of India
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145, TE HEE Ty 3T,
(1) SiEArEn SfysR (2) TNl AfHER
(3) Al 3fHFR (4) et w4
‘Human Rights’ includes
(1) Right to life (2) Right to liberty
(3} Right to equality (4) All of the above
146, Tsd UM gaF STIATIAT STEqeiel W06 A,
(1) eI
(2) 359 QAN Y& =
(3) TSHUEA
(4) 7= HiEd

The chairperson of State Human Rights Commission is appointed by

the Chief Minister
the Chief Justice of High Court

(1)
(2)
(3)
{4}

the Gevernor

the Chief Secretary

147.

TN FART] S, T e g9 ST, Wiy dl Wieierds! HoTeT Sneraren

A SYF g TS ?
(1) wI=a =y
(2) Teamh =raeE
(3) TS A
(4) WISEA e

The National Human Rights Commission while inquiring into complaints, in respect
of certain matters enjoys the powers of which of the following Courts 7

(1)
(2)
(3)
(4)

Supreme Court
Civil Court
Consumer Court

Criminal Court
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148, T6H o H1FET 1948 =01 Sihld Aol SAHAY Welelds! S oF ey o) 2
(1) FramEEEt oo s e
@) TR T
(3) -zl (dw) JEwm @ R
(4) ¥ T
What is included in the definition of the term ‘Wages’ under Minimum Wages Act
1948 7
(1) The value of any house accommodation
(2) Home rent allowance
(3) Value of the supply of light and water
(4) Any travelling allowance
149. fFH 307 FAg =2 JaAHe ey ST,
(1) =T o (2) Y9 WM
(3) ¥ (4) aheds Hoad @
Under the Minimum Wages Act, wages includes
(1) House Rent Allowance (2) Travelling Allowance
(3) Gratuity (4) None of the above
150. f6H A6 e 1948 3fnfa wreferdst S Wit fue 997 30 e o ?

(1) TR Freiel W
(2) AT 37fde wfeerd
(3) TN YR e st
(4) et FUETE MEER EdeEd T WY FoRaE Rty 28

Payment of Minimum Wages by the employer depends upon which of the following
situations ? (Under Minimum Wages Act 1948)

(1) Profit made by the establishment
(2) Financial condition of the establishment
(3) Kind and size of industry

(4)  Does not depend upon any of the above mentioned things but becomes payable
irrespective of all such situations
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T - (g 1 767 )

® TATERAE fafd Foo fafme srie = oFw o (T ) e
_mﬁﬁmmmﬁwmﬁmimﬁﬁéﬁm,aﬁw
w3 ER SACARER WA ST e Codaimel g S sty
FAEETY HUFEH-82” Ade THUER FRAR F1UAR AgA 9 AN N FAE TS
e FRETT= Y/ €93 U g9R e S2ren e I .

@ TR TEEREE AE fafsd He 9% uedl SHCHen & Ay @ ae
TORTHERY 93 SV WA SR, W9E U@ Qe AuagE sieae el
ITUEEREl WIT-1 aHag&mERe 1 faEtd e {0 SavasE IR,

91 MR
Y9 % 201, WA =l AP EUAEE &0 g 5@ g ?
(1) @ gaEe s (2) SyaEs faER
(3) UST THHEH U™ (4)  TIISFET TEe

o YR A IE @) UST UHHEA {87 S SR, WMe W AR 3w 43)

3T, T WreferETer X%, 201 Wl sw-wEm <37 ¥ adm ol s w6
T STEvEE 3.

w20 O @ @ @

M TGAR W AR od YA qEE STk g g e
faeren FARuheE T @ T e defe e quin S wE .
AT Gerd AT YMES afed aOd, IFEe a1 wiEe a9 aues T4,
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